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( Fundamentals of Flnanclal Management )
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Time : Three hours

The lTgures ln the matgln Tndicate
full marks tor tlrc questions.

Answer elther in English or in Assamese.

1. Choose the right answer : 1x1O=10

eh Ee_{6r <t&€frsa a

(t) Market capitalisation is a measure of-
(qFr {{{fi-f,<rct fir$E LT'EdI qRrtq or<r

(a) wealth created by equity

Es?ftn erw Frl {-'lq
(b) share price indicator of the equity

sfrffit< q$"EFr {E] {Fs

Contd.



(c) market Price indicator of the

securities

ffi<qFFj{Fs
(d) cost of equitY as comPared to

market Price of the equitY

ffifrE <srm {_4r< YE{IE ?S?F< er
w

(it Cost of Preference share is
qflfi-rK qi'FI <r{

(a) treated for tax
qm-+< ws6fu

(b) not treated for tax
qTs<ffi

(c) only occasionally treated for tax

.sfrTKrq qF?F< elc{fql E{

(d) None of the above

sq-q< qbts;R-{

liir/ Internal rate of return is the discount
rate of which-
qrssftq {{.rI< q< Ea <lu El-{ {b-
(a) NPV > 0

(b) NPV < 0
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(c) NPV = 0

(d) None of the above

seKq qbts {q{

liul Current assets are twice the current
liabilities. If working capital is
Rs. 20,000, current assets would be

Efrs ryf& EFs mdt< Feq q{ I ffi qtraft

{4<;l 20,000 tr+-t q{, Nrg Dfis {-{e<
4r<Tl6t E<

(a) Rs. 10,000 15o,ooo iTI)

@ Rs' 40,00O (ao'ooo E$l)

(c) Rs' 80,000 (ro'ooo t+l)
(d) Rs. 20,000 ilo,ooo Eol)

(u) Profit maximisation ignores

Els x{Irc<q e4q dql{ sFr<

(a) weaith
qEem

(b) time value of moneY

{El< rnr w
(c) net value

erfs w
(d) None of the above

sefEa .{Et\s €T

a ($m-S/CBCSI COM HC2 {FoIM)/G 3
Contd.



(ui) rhe net workingrc::'ffi:ffri:.".':
of current assets ov

tr+s ord-+fr {ittd s'd ufrs cq{t< s"r<fs

#0. rqre< qtuflq t

(a) True (cb1)

(b) False (FS)

@ii) tn respect :: :lil:,T:X j::il,J,"J
issue market' con

from issuing "ht"" 
at a discount

excePt in the case of issue of sweat

equitY shares'

{F {qffi coFirou Ir<' 
dtf?F *T1T:

q-dl EsK csl'"fldKa c<Qfr {4Js esH 4I<I

6KrC< I

(a) True 0{FI)

(b) False Gs)

luiii) When profitability index exceeds one'

' ' tht ProPosal is rejected'

fifu$ profrtability index '46 stFs q{

re&lr er$q ${tffilq$l
(a) True (t{FI)

(b) False (fiS)
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(tx)

(x)

When the company pays dividend in
the form of bond, it is called property
dividend.

mt'+tftl c<&$ <s< s4s EqI$t frC{, cs&$l
srs {-4&-EEll$l 6{lFrl

(a) True (riDI)

(b) False (fu)

The profrtability index or benefit cost
ratio is the relation between the present

value of future net cash flow and the
initial cash outlay.

vRgre "tt< 
qtt erfsiri{ :E< er<R\Tl$ ffi$

4rfi Rfr(-TItF:r-t-fr qh Els w6d< {Ds
(A.qR.) $ Els <JlI q-{flg (frFq<)r

(a) True (ti5l)

(b) False (frS)

Answer the following questions in about
SO words each : 2x5=10

frrxre etqqs s&6t<EE< 56tffi'rq<&w"
frq:
(a) State the objectives of wealth

maximisation.

q.efn qk+sy$<.t{ E[Ff EmrI $<tl

i.

I

2.
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(b) State the meaning of EpS.
EPS-< qerEta-{ ctt

(c) State the meaning of Internal Rate of
Return.
qsr@.i qT< qr${ qdfrr

(d) What is stock dividend ?

F+ E-vliq ftr
(e) What is cash management ?

{'tq,tRFl{-{t ft2

3. Answer the following questions within
15O-2OO words each : (ang .four) Sx4=2O
frr$s^erdc{q< afe-dr trE< rsG2ooH "rt-<NE<\r- tf,rn z (fuW dffit)
(a) Define opportunity cost of capital. How

is it computed ?
Opportuniry^cost of capital < C(@l frflt IEsr csr{s r{.F{ Grl qr?

(b) Distinguish between financia.l leverage
and operating leverage.
RQx fivtc<q q$ q{r<& 6sn<q< Ercqml<
fr"fi r

(c) State the limitations bf financial
management.

R€r "tRFEiT< finr<h\5r{tr Ersq +_<tr
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(d) Discuss the
return (IRR). 

use of internal rate of

.qsrsaq qlfl< qf< <I{tr< u6aID_{ s<T,
(e) State the

warrants,""":, :;ili: "";..:.": n, 
" 

n

A F "ineru" c{r+ro qffira ffic+ qr<_imql trcm< s-<tr

A Examine the
receivabres _#l"iH: or accounts

qt"ll for{ qfiDEat< ss_q fitzqb_qr s<tr

4. Answer ang threeof the following questionsin about 6O0 wordr
.,-d< ift-dlrnlt , ,,*ffi* * #; il-rq< &r:-+s fr{r :

(a) Discuss the sc
financi., -..,.r11i. 

and objectives of

fi-e{ qRbTqq.l< 
"tRc< q$ UcE.m{< qr_drD_{t

S.il I

(b) Discuss modern methods of capital
budgeting.

T{<H <lrqF$-<q<
GTII
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qf{fr$ 
"ihccTl< qlrEbql

Contd.



(c) Define working capital. What
considerations are taken into account
in estimating the amount of working
capital requirements in a newlv started
company ? 2+3=19
+Iffi {q<a< c\Et fi$ I {,QT mi-,fffi qblu
orffi 15qr+ fr-qqq +r$rs fr ft ft.<E-{r
oR+qffRr qse

(d) Elaborate the determinants of capital
structure of a corporate entity. and the
benefits of a balanced capital 

"tructu...6+4=tO
+<"[d a&tn ,!bF {{fi Et.R M<"rfifl
fi<nmt< <€.8 fr{ qs gt<r.Nrw Tqfi
atffi< E,r+rfrq fr{r

(e) Elaborate Modigliani and Millerhypothesis or dividend d""i"i;;".
Examine its validity.
ssnst frqfi fiEls{ 6SEIE Modigliani qFr
Miiler { {<.fl<fiqi? qlrqlD_{ $iltfu{ils<
€R"ICTITEI fiCdSq <Ktr

0 ABC Ltd. iq considering an investment

it:"# ",:#,":?,k l;:,:s.*facility has a l*d L;;;'"Xii;';g* or 5 Years
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and 0'62U
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The estimated revenue be fo re
depreciation and taxes from the
investment are as follows :

Year Erpected Revenue

(before depreciatiotr atrd Tsxl

lRs.l

I 2,00,000

2 2,20,000

3 2,50,000

4 2,60,000

5 3,00,000

If tax rate is 30o/o p.a. and the company
uses straight line method for
depreciation-
(i) determine the cash flows after

taxes but before depreciation ;

(iil calculate the Net Present Value

, (NPV) of the investment at 10%

discount rate ;

/iii/ comment whether to ProPosal
should be .accePted 

or not.

[The present value of Re. 1 at 10%

discount rate (PVIF) for 5 years are

respectively 0'909, 0'826, O'751' 0'683
4+5+ 1= 10

Contd.



ABC frfr-ctw 1 o,oo,ooo trot <rrc ebI qE{

Erqnft fiqq El"F $RdE eA frfr(I]E ersK<

fo<E{r sR wqr qE {R{rrR s <w< eDt

+sr<l .Q-+++rq qrq, qt+ tlt< mrm q<ffi
1ol {Rl
o< qR q{s.tr< qa< q{{ifrs qlTl{c sE\o

filI r<"t<:

<F qNfr{qt{

(wtr{ q?{irqtris)

(Rs.l

1 2,00,000

2 2,20,000

3 2,50,000

4 2,60,000

s 3,00,000

ffio<<cx<Rfi 30 runqr+ mrtftdm
wrieF{ <tr< c<dfr<fus qq& <K{< $r<_
(q w{sr{ qt i< ft_s w< Ftq qxq qTR

Bfreo;

(iil 10 .ret$r <tut qxu RfrRFnbr< erf_s
nc'vn qEi {qil Gt;
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(iiil efv.ffit qq"f6Tirf B C{ {q{ eK €eFttr

T.g<t q'frr{cDr<l 
I

[10 *tstrt {lbt e[<E 5 <w< <E< 1 rsl< <-6i{
w @rr 0.909, 0.926,0.751, 0.683 qf{,
o.62rl
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